Monthly averaged wind velocity by MF radar at Tromsoe for September 2011
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Monthly averaged wind velocity by MF radar at Tromsoe for September 2011

North East

mean sigma = 13.680 mean sigma = 14.740

I
[S =}
[=2R=}

o

82km

Ll
o &
ISH=)

© P
E
©
o
>
3
o
© T
B
©
o
>

20

o

mean sigma = 12.431 mean sigma = 13.856
100

50

rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr s L

-50
-100

© [rrrrTpTITTIT
£

©

0

>

o

© e
£

©

0

>

20 20

o

mean sigma = 10.913 mean sigma = 13.060
100

50

76km

I
o
e B

e
o &
ISIR=]

o
© prrrr
£
@
N
>

20

S
£
@
N
>
o

20

mean sigma = 9.885 mean sigma = 11.192

a o
o O
RARAAR

73km

o &
ISIR=)

:
3

© P
E
o]
~
>
8
© e
£
o]
~
>
8

mean sigma = 8.704 mean sigma = 10.884

a o
o O

=
Coalin

o

fffffffffffffffffffff 22 70km

I N
o &
ISHR=)

1
ES
o

© [T

IS
©
~
>
B
o
IS
©
~
>
8
o

mean sigma = 8.053 mean sigma = 11.400

o

E | 100: |
E E 50F- E
E A 0F et T -4 §Tkm
E E -50F E
E E 100f E
0 4 8 12 16 20 0 0 4 8 12 16 20 0

mean sigma = 8.342 mean sigma = 10.299

o
o

o

3 E 50 E
] S T . 64km
E E 50F- E
E E -100F E
0 4 8 12 16 20 0 0 4 8 12 16 20 0



